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Problem 6.1
(a)
Xa(ejw) _ % 17%0}(“),%) - 17%le(w+%) ) |w| <7
X, (e7@=2mh)) | for all integers k
(b) 1 3 7
‘ 55 %—g <|w| < 15
X(e) = { 0, Bl <n
X, (€70=2R)) | for all integers k
Problem 6.2
(a)
] = 26[n] + ~6[n — 2] + ~5[n + 2]
Taltl =5 1 1
(b) N
xp[n] = (—2)"u[—n] * (—%) uln] = g <—%>
Problem 6.3
(a)
=2 ()t a (L) up
Taln| = 1) uln 5 ) uln
(b)
1\" 1\" 3\"
xp[n] = —2(n+1) (5) u[n] — 6 (§> u[n] +9 (Z) uln]
(c)
L 3 L
Z(t) = ze u(t) + e u(t)
(d)
xq(t) = 6(t) + 16e > u(t) — 23e*u(t)
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Problem 6.4
(a)

(b)

()

Problem 6.5

Problem 6.6
(a)

(b)

jw +2

H(jw) = (w +3)(jw + 1)

- (23
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